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All the students of B.Sc./ M.Sc. are hereby informed that, a quiz contest will
be conducted by Department of Physics on “General Knowledge on Physics” on
Wednesday,16™ March 2022, 02.00 pm at Physics Lab, Vivekanand College,
Kolhapur. Interested students may register their names at Dr. S. I. Inamdar

(Departm

ent of Physics).

Rules for Quiz contest

1. It is based on multiple choice questions.
2. Each question carries 4 marks.
3. Only one option can be considered by evaluator.
4. If two options have ticked then the question will be considered as not
attempted.
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Final Result

 Sr.No. | Name of the students | RoliNo.  Marks  Rank
1 Sakshi Mohan Kamate B 7439 86 First
| 2 Sanket Santosh patil 7143 84  Second
[ 3 Samrudhi suresh Borage | 7325 80 Third )
.4 Shruti Vinay Gutte 7016 78 | consolation prize
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Name of the ﬁepa&ment

Department of Physics

Name of the Activity

—Date / Duration

Aims and Objectives

No. of Beneficiaries

Wednesday, 16th March 2022, 02.00 pm-

Quiz contest on : “General Knowledge on Physies”

1) To test the knowledge on students on basic and general physics.

2) To Encourage students for study of basic physics

' Teachers Male 0l 02 __}
i Female 01 ‘
. Students Male | R 25 56 |
‘ Female i 31

Total 58

Expenditure and Fundings

College and BBC Marathi Funds

Brief Discussion

Dr. M. M. Ear;l}j_kar, Professor and Héa_d, Departrnem of Phy_sTc:;j
Vivekanand College, Kolhapur (Autonomous) has supported to conduct |

this quiz contest on on

Inamdar and Mr. A. V. Shinde has conducted the quiz contest.

‘General Knowledge on Physics’ Dr. S. .|

Outcomes

|

| ‘Students got the chance to présent their knowledge in Physics.

|
=
|

Dr. M. M. Karanjkar
HEAD
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Instruction: E
1. Each question carries 2 marks. .- —+
2. Only one option can be considered by evaluator. [ - |

3. If two options have ticked then the question will be considered as not attempted. R

Q.) Select correct alternative.
1) Newton's first law of motion is known as law of ---------

3 7\ a) Momentum b) Inertia
¢) Energy T Torce
2) The energy possessed by the body by virtue of its motion is-------
B — inetic energy b) Potential energy
= ¢) Mechanical energy d) Total energy
3) A valid solution of differential equation of S.HM. is ~—-ennmm
a) x = a* sin (ot + @) \,brj/x]=asin(c)t+a}
()" ¢) x*=asin (ot +a) d) x*=a’sin (ot + a)
4) For streamline flow the equation of continuity is ............
a)aivy =awvz Ml = a’va
o * ¢) aviZ = ava? d) ai?vi® = a’va?
5) Ultrasonic waves are ............ waves
" a) Light |_bySound
v c) electromagnetic d) matter
2L 6) In Huygen’s eyepiece lenses are ............
. a) Plano Concave b) Convex
=l Plano convex d) Concave
2= 7)Incase of compound pendulum , the centre of suspension and the centre of suspension of compound
pendulum............
x,a’l/;nnot be interchanged b) are interchangeable
© vf‘ c) are at two different points  d) are same points in few cases
8) The angle of contact between glass and mercury is...............
a) aright angle b) acute angle ;
n obtuse angle d) always zero |
- 9) At what temperature do he Celsius and the Fahrenheit scales coincides? :‘
, a) 30e b) -30e |
0 A o400 Ldy 400 ’i

10) Which ofthe following is the expression for the efficiency of Carnot engine?

& (Q1-Q2)/Qi b)( P1+P2)/P1 ;!

) c)(T+T2)/T, d)( P;-P2)/P; I'
11) In Fresnel type of diffraction ------------- at finite distance from obstacle |

a) both the source and screen b) only source |

0 7& c) only screen varone of these i‘




12) The unit of figure of merit is ~--=------
0~ a)mm/pA b)em/pA
“ 77 ¢) pA/mm _HTA/em

13) CMRR stands for -------=n=nanx
7 e ommon Mode Rejection Ratio b) Common Mode Referential Ratio
¢) Common Mode Reference Ratio d) Commercial Mode Rejection Ratio
14) Reverberation of sound is mainly due to ............

o A a)reflection b)diffraction
¢)polarization Vd’)ﬁ'fraction

15) If b’ is breadth and ‘d’ is the depth of bar, then its geometrical moment of inertia is given by

b3d? b2d2
g) — b

) 23 %22
o A d bed
12 12

16) Characteristic X-rays depend on ............
arget material b) wavelength
c) frequency d) energy of cathode rays

"

17) A thin coin of radius 6 cm is rolling over a plane horizontal surface. Obtain its critical velocity.

7{ a)52.58cm/s b)72.58cm/s
0 ¢)62.58¢m/s 2.58cm/s
18) Torsional oscillations of wire are due to its.......
a) modulus of rigidity ; b)Young’s modulus
9 7{\ Ve')’sulk modulus of elasticity d)high density
19) For Rankin’s method amount of gas required is..........,
" a) very large \_,bﬁa/rge
9, c)very small d)huge

20)By Newton’s formula, if X; and X are resp. the object and image distances from the respective
focal points for an optical system then............

Of  aXiXefify by K /Xa=f1 /s

¢) X1 Xo=t/f2 d) XiX=fif2
21) If the total force acting on a particle or system is zero, then ---- of the particle or system of particles
is'gmz;e‘rr@.
v inear momentum b) angular momentum
“’\/ c) energy d)force o
22) The maimum horizontal distance covered by a projectile is called the -------- of the projectile
~ a) displacement b)range
c) flight djfrajectory
9~ 23)Rigid body consist of -------—--- degrees of freedom
2) 3 b1
c)6 d)9
o F
24) A rigid body in motion can be completely specified if its and -- are given
r& a) position, orientation bjposition . velocity
Q ¢) position ., centre of mass d) orientation , centre of mass

25) The principle of work is expressed by the equation -------------




a)Y F.ori=0 \)ff F{®.8r, =0

¢)Y Fi.odv=0 d) Fi.ori=0
26) A constraint is ==--------- on the freedom of motion of a system of particles
_a) restriction b)condition
7 ¢) information d) none of these
¢ 27) Hamilton’s principle is =------------- principle
aydifferential b) integral
"_ - ¢) an algebraic d) summation
28) The shortest distance between two points in a plane is along a --=------- passing through the two
points
a) curve b) normal to plane
N &)«sﬁight line d) circle
)~ 29) -=-----—--—-of a particle is same in the fixed and the rotating system
= ol a) velocity k/b’ﬁ?;ear acceleration
© ¢) angular acceleration d) momentum
30) The frequency of antisymmetric mode i --------—- frequency of symmetric mode.
ay igher than b)lower than
9 7 c) lowest than d)zero
" 31)The trajectory of a particle entering an electric field in a direction perpendicular to o T
7(;, a) straight line parallel to E \_/b‘){arabola
© ¢)hyperbola d)circle
32) If @ is scalar potential function then following equation represent Laplace’s equation
a)V2p =0 20 = pleo
5 ¢) V@ =0 d) V@ = pleg
33) Mathematical formulation of empirical laws in electricity and magnetism are known as ---
a) Lagrangian’s equations b) Maxwell’s equations
0 75 orent’sz equations d) Newton’s equations
34)The equation of continuity is in accordance with the law of conservation of --=--------
e a) energy Lrfnomentum
Q c) charge d)angular momentum
35) Electric dipole moment per unit volume of polarized medium is called ---------
7( isplacement vector D b) Polarization vector P
0 ¢) Magnetization M d) Electric intensity vector E
36) According to Ampere’s circuital law the line integral of magnetic induction B around closed path
is equal to ==--=------- the total current I enclosed by the closed path.
\.// a) twice Vb—nm/ti?nes
\(, c) po/2 times d) po/4 times
37) The electromagnetic energy crossing unit area in unit time 13 called --------—-
a) Poynting vector b)polarization vector
‘- U:)eﬁergy density d) current density
<) _ 38) In electromagnetic fields ----------
‘ a) total energy is conserved MI momentum is conserved
- c)both a and b d) neither a nor b
2+ 39) The trajectory of charged particle in a constant .uniform magnetic field is --------
a) straight line Arrparabola

ol




c)hyperbola d)circle
40) The trajectory of charged particle in crossed, uniform and constant electric and magnetic field is --

yclmd b) parabola
Q\f\ c) hyperbola d) circle
41) X-rays are the ............ waves
_ ectromagnetic b)longitudinal
gt 4 c)mechanical d)elastic
'“" 42) Characteristic X-rays depend on ............
arget material b) wavelength
9. v c) frequency d) energy of cathode rays
43) The energy released per fission of uranium is about ............
a)100 MeV 00 MeV
v ¢)400 MeV d) 150MeV
) A4) ............ is the source of stellar energy
a)Nuclear fusion b)Nuclear fission
@7& Chain reaction d)heavy water
| 45) The Carbon-Nitrogen cycle contribution about ............ percentage to the total solar energy
; a)s l/bj’Zg c) 10 d) 20
- O 746) In microphone ............ converts into electrical energy
e l})st%]d b)light
q- c)laser energy d) magnetic field
) 47) The S’ energy levels are always ............
a)double  bfiple
2 c)single d)multiple
48) Doublet separation ............ with increase of atomic number
a)increases b)decreases
®) c)remain same d)becomes zero
49) Principal quantum number ‘n’ defines the position of electron in ............
_ a)Shell b)Subshell
Y T\ c)nucleus Ld—)ﬁﬁbmost orbit
50) Normal Zeeman effect is observed when atom is placed in ............ field
" a)Weak magnetic [ bjstrong magnetic |

(z_

¥ c)weak electric d)strong electric
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Instruction: e T

1. Each question carries 2 marks. |00
2. Only one option can be considered by evaluator.

3. Iftwo options have ticked then the question will be considered as not attempted.

/')/.

(7

O

i o

Q.) Select correct alternative.
ewton's first law of motion is known as law of -=-------

a) Momentum _b) Inertia
c) Energy d) Force
_L}/The energy possessed by the body by virtue of its motion is-------
Kinetic energy b) Potential energy
¢) Mechanical energy d) Total energy
X3) A valid solution of differential equation of S.H.M. is ---------
a)x—a sin (ot + ) b) x= asm(ml+a}
¢)x*=asin (ot +a) d) x*=a’sin (ot + )
) For streamline flow the equation of continuity is ............
a) aiv) = a2 b) a;’vi = a’v»
) ajvi? = apva? d) ai®vi® = a’va?
5) Ultrasonic waves are ............ waves
a) Light b) sound
._¢) electromagnetic d) matter
In Huygen’s eyepiece lenses are ............
a) Plano Concave _b) Convex
¢) Plano convex d) Concave
7) In case of compound pendulum , the centre of suspension and the centre of suspension of compound
pendulum...........
a) cannot be interchanged b) are interchangeable

O’

\}y]‘/ _€) are at two different points  d) are same points in few cases
h

“

O

e angle of contact between glass and mercury is...............

a) a right angle b) acute angle
_~C) an obtuse angle d) always zero
9) At what temperature do he Celsius and the Fahrenheit scales coincides?
a) 30° b) -30e

) 400 d) -40e
Wﬁch of the following is the expression for the efficiency of Carnot engine?

% —2) (Q1-Q2)/Qi b)( P1+P2)/P,
cNTi+T2)/ Ty d)( P1-P2)/P)
In Fresnel type of diffraction ------------- at finite distance from obstacle
- __a) both the source and screen b) only source

c¢) only screen d)none of these




| \I/Z)’ﬁw unit of figure of merit is =---------

’ 7 a)mm/pA b)cm/pA
| _OYUA/mm d) pA/em
13)CMRR stands for -=----=n=n=--
’} __a) Common Mode Rejection Ratio b) Common Mode Referential Ratio

¢) Common Mode Reference Ratio  d) Commercial Mode Rejection Ratio
\w/R’everberation of sound is mainly due to ............
N a)reflection b)diffraction
& ~~c¢)polarization d)refraction
L. +/A5) If ‘b’ is breadth and ‘d’ is the depth of bar. then its geometrical moment of inertia is given by

b3a? p2a?
12, 12
9% Ve
><l 6) Characteristic X-rays dependon ............
O a)target material b) wavelength
c) frequency /d) energy of cathode rays
.>Q?) A thin coin of radius 6 cm is rolling over a plane horizontal surface. Obtain its critical velocity.
_a)52.58cm/s b)72.58cm/s
" ©)62.58cm/s d)82.58cm/s
18) Torsional oscillations of wire are due to its.......
! /)/ a) modulus of rigidity b)Young’s modulus
) bulk modulus of elasticity d)high density
. 7Q9) For Rankin’s method amount of gas required is............
/ a) very large _—blarge
c)very small d)huge

)By Newton’s formula, if X; and X are resp. the object and image distances from the respective
/)/_ focal points for an optical system then...........

a)X1 Xo=fif2 b) X1 /Xao=fi /f2
/2) X1 Xo2=f1 /f3 d) X X=fif2
21Y1f the total force acting on a particle or system is zero, then ---- of the particle or system of particles
V&nsewed.
a) linear momentum _b) angular momentum
c) energy d)force
The maimum horizontal distance covered by a projectile is called the -------- of the projectile
a) displacement b)range
/V c) flight ~d)trajectory
\/23¥Rigid body consist of ==-==----- degrees of freedom
| a)3 b) |
| 7 o6 d)9
) A rigid body in motion can be completely specified if its and are given
/b _A) position, orientation b)position , velocity
¢) position , centre of mass d) orientation , centre of mass

l 7&25) The principle of work is expressed by the equation ---------=---




v

a)y Fi.ori=0 b)Y F®.6r,=0

c)Y Fiov=0 d)F.éri=0
26)°A constraint is ------=---- on the freedom of motion of a system of particles
: ) restriction b)condition
V- ¢) information d) none of these
27yHamilton’s principle is ==-===smmnenmn principle
0> a) differential b) integral
c) an algebraic d) summation
\),)f’rhe shortest distance between two points in a plane is along a -----=---- passing through the two
points
a) curve b) normal to plane
_€) straight line d) circle
~~29) ------------ of a particle is same in the fixed and the rotating system
a) velocity b) linear acceleration
_e) angular acceleration d) momentum
~ 30) The frequency of antisymmetric mode is ---------- frequency of symmetric mode.
a) higher than b)lower than
_crtowest than d)zero
he trajectory of a particle entering an electric field in a direction perpendicular to E  is ~----=-----
L a) straight line parallel to E _b)-parabola
c)hyperbola d)circle
>(32) If @ is scalar potential function then following equation represent Laplace’s equation
O/ a)V2p =0 b) V2@ = pleg
2YVp=0 d) V@ = pley
33) Mathematical formulation of empirical laws in electricity and magnetism are known as ---
O a) Lagrangian’s equations b) Maxwell’s equaFions
¢) Lorent’sz equations d) Newton’s equations
The equation of continuity is in accordance with the law of conservation of -----------
a) energy b) momentum
= c¢) charge __dyangular momentum
35y Electric dipole moment per unit volume of polarized medium is called ---------
‘ a) Displacement vector D b) Polarization vector P
[ ¢) Magnetization M _-d) Electric intensity vector E
36) According to Ampere’s circuital law the line integral of magnetic induction B around closed path
C;-Xis equal to  ==mmmwmmemn- the total current I enclosed by the closed path.
twice b) no times
C) po/2 times d) uo/4 times
3 he electromagnetic energy crossing unit area in unit time is called ---------
_ L a) Poynting vector __b)polarization vector
c)energy density "~ d) current density
\/38fln electromagnetic fields ~==-------
- a) total energy is conserved b)total momentum is conserved
)both a and b d) neither a nor b

39) The trajectory of charged particle in a constant ,uniform magnetic field is -=------
07(\ a) straight line b) parabola




c¢)hyperbola d)circle
Me trajectory of charged particle in crossed, uniform and constant electric and magnetic field is --

_~4) Cycloid b) parabola
" ¢) hyperbola d) circle
X 41) X-rays are the ............ waves
o _a)electromagnetic b)longitudinal
€ ¢)mechanical d)elastic
\ _j})’ClTaracteristic X-rays depend on ............
’2/ a) target material _—b) wavelength
¢) frequency d) energy of cathode rays
43) The energy released per fission of uranium is about ............
% a)l00 MeV b)200 MeV
_£)400 MeV d) 150MeV
44) ool is the source of stellar energy
~ % a)Nuclear fusion b)Nuclear fission
< ¢) chain reaction d)heavy water
45) The Carbon-Nitrogen cycle contribution about ............ percentage to the total solar energy
o K a)s b) 25 ¢) 10 d) 20
\}y]’n microphone ............ converts into electrical energy
P a)sound b)light
c)laser energy _~d) magnetic field
\/473 The ‘S’ energy levels are always ............
9. __aydouble b)triple
c)single d)multiple
48) Doublet separation ............ with increase of atomic number
; a)increases b)decreases
& x c)remain same d)becomes zero
Mincipal quantum number ‘n’ defines the position of electron in ............
a)Shell b)Subshell
¢)nucleus _~dJoutermost orbit
507 Normal Zeeman effect is observed when atom is placed in ............ field
y a)Weak magnetic b)strong magnetic
/e')Vveak electric d)strong electric
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Instruction:
1. Each question carries 2 marks.
2. Only one option can be considered by evaluator.
3. Iftwo options have ticked then the question will be considered as not attempted.

Q.) Select correct alternative.
’)/\)XNewton's first law of motion is known as law of -=-------

a) Momentum _byinertia |:
¢) Energy d) Force [
3@ The energy possessed by the body by virtue of its motion is-------
& a) Kinetic energy b) Potential energy
_€) Mechanical energy d) Total energy
) A valid solution of differential equation of SH.M. is ---------
o a) x = a’ sin (ot + o) b) x =asin (ot + @)
£ x> =asin (ot + a) d) x> =a’sin (ot + a) _
4) For streamline flow the equation of continuity is ............ }
O )< a)ajvy =av b) ai’vi = ax’v2
c) aivi® = apva? dai*v? = a’vy?
5) Ultrasonic waves are ............ waves
© X a) Light b) sound
) electromagnetic d) matter
6) 1 Huygen’s eyepiece lenses are ............
_A) Plano Concave b) Convex
¢) Plano convex d) Concave
\/ﬂn case of compound pendulum , the centre of suspension and the centre of suspension of compound
pendulum...........
V a) cannot be interchanged by are interchangeable

c) are at two different points  d) are same points in few cases |
8) The angle of contact between glass and mercury is............... ‘
07'& aright angle b) acute angle
¢) an obtuse angle d) always zero U
9) At what temperature do he Celsius and the Fahrenheit scales coincides?

C) ﬂ a) 30e )}‘-3 0o

c) 40 d) -400
W’hich of the following is the expression for the efficiency of Carnot engine? !
.- A (Qi1-Q2)/Q b)( Pi+P2)/Py
c)(Ti+T2)/Th d)( P1-P2)/P) ‘
11)1n Fresnel type of diffraction ------------- at finite distance from obstacle '
; ﬁf both the source and screen b) only source ‘
/-)/' ¢) only screen d)none of these

/s, s 4‘0\.
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\_y/)’fhe unit of figure of merit is ~---------

% a)mm/pA b)em/pA
_CyuA/mm d) pd/cm
13) CMRR stands for --------a-----
O a) Common Mode Rejection Ratio b) Common Mode Referential Ratio

¢) Common Mode Reference Ratio ~ dyCommercial Mode Rejection Ratio
) Reverberation of sound is mainly due to ............

/L a)reflection b)diffraction
' _oypolarization d)refraction
15) If ‘b’ is breadth and ‘d’ is the depth of bar, then its geometrical moment of inertia is given by
DA SRR . .
L bid . b2d
a)
12 12
b2d® b2d2
c)
12 12
16 Characteristic X-rays dependon ............
a)target material b) wavelength
/)/ e frequency d) energy of cathode rays

7) A thin coin of radius 6 cm is rolling over a plane horizontal surface. Obtain its critical velocity.

O a)52.58cm/s _b)72.58cm/s
¢)62.58cm/s d)82.58cm/s
\)Bf)’forsiona] oscillations of wire are due to its.......
_aymodulus of rigidity b)Young’s modulus
/L c¢) bulk modulus of elasticity d)high density
19) For Rankin’s method amount of gas required is............

O 7< a) very large b)large
c)very small _—&)huge

y Newton’s formula, if X; and X are resp. the object and image distances from the respective
focal points for an optical system then............

X1 Xo=fif b) X /X=f\ /f2
¢) X1 Xo=f /f d) X1 X=fif
If the total force acting on a particle or system is zero, then ---- of the particle or system of particles
is conserved.
/)/ a) linear momentum /bﬁngular momentum
C) energy d)force
22y The maimum horizontal distance covered by a projectile is called the -------- of the projectile
displacement b)range
/V c) flight d)trajectory
23) Rigid body consist of -=-=-=---- degrees of freedom

i a)3 b) |

XM) A rigid body in motion can be completely specified if its --------- and ---------- are given
C, a) position, orientation Kk;)f)osition . velocity

c)-position , centre of mass orientation . centre of mass
The principle of work is expressed by the equation -------------

0




a)y Fi.ori=0 b) ¥ F®.6r, =0

c)Y Fidv=0 ATFi.ori=0
6) A constraint is -=--==----- on the freedom of motion of a system of particles
O a) restriction b)condition
_e) information d) none of these
7k2?’) Hamilton’s principle is -=-=-s==nunmx principle
O a) differential b) integral
¢) an algebraic _dysummation
L/28) The shortest distance between two points in a plane is along a -=--=----- passing through the two
points
5 L _2) curve b) normal to plane
c) straight line d) circle
) mmmmmmm—me- of a particle is same in the fixed and the rotating system
/Z a) velocity b) linear acceleration
- >yangular acceleration d) momentum
30) The frequency of antisymmetric mode is =--------- frequency of symmetric mode.
" a) higher than b)lower than
“1/ c) lowest than _dyzero

/)The trajectory of a particle entering an electric field in a direction perpendicular to R T p—

% /a*)ﬁraight line parallel to E b) parabola

| c)hyperbola d)circle
If @ is scalar potential function then following equation represent Laplace’s equation
9 a)V2p =0 b) V2@ = pley
c) Ve =0 )V = pley
337 Mathematical formulation of empirical laws in electricity and magnetism are known as ---
¢ ‘ /ﬁfLagrangian’s equations b) Maxwell’s equations
& ¢) Lorent’sz equations d) Newton’s equations
34)The equation of continuity is in accordance with the law of conservation of -----------
O /a*)’energy b) momentum
¢) charge d)angular momentum
33 Electric dipole moment per unit volume of polarized medium is called ---------
a) Displacement vector D b) Polarization vector P
% ¢) Magnetization M __dyFlectric intensity vector E
-36) According to Ampere’s circuital law the line integral of magnetic induction B around closed path
O is equal to  ------------ the total current I enclosed by the closed path.
twice b) po times
C) Mo/2 times d) po/4 times
) The electromagnetic energy crossing unit area in unit time is called ---------
' Q/ &) Poynting vector b)polarization vector
c)energy density d) current density
o 7@8) In electromagnetic }‘ie]ds e '
a) total energy is conserved ):)_)1613] momentum is conserved
c)both a and b d) neither a nor b
) The trajectory of charged particle in a constant ,uniform magnetic field is --------
| /2/ a) straight line b) paral_:aola
. .,%: si}’E_{J{( G




“ _C)hyperbola d)circle
I \/40')4' he trajectory of charged particle in crossed, uniform and constant electric and magnetic field is --
i’ ’)/ ,a) Cycloid b) parabola
c¢) hyperbola d) circle
_ 7{1 1) X-rays are the ............ waves
O a)electromagnetic b)longitudinal
¢)mechanical __#delastic
Characteristic X-rays depend on ............
} a) target material b) wavelength
: frequency d) energy of cathode rays
~4.43) The energy released per fission of uranium is about ............
i O a)100 MeV b)200 MeV
| c)400 MeV &y 150MeV
| . Ad® is the source of stellar energy
L a)Nuclear fusion b)Nuclear fission
&) chain reaction d)heavy water
The Carbon-Nitrogen cycle contribution about ............ percentage to the total solar energy
7/ a)5 by2s ¢) 10 d) 20
6) In microphone ............ converts into electrical energy
| O a)sound b)light
_oytaser energy d) magnetic field
—~ 7<4?) The ‘S’ energy levels are always ............
J L/ a)double _bitriple
- c)single d)multiple
: \Aﬁ) Doublet separation ............ with increase of atomic number
]/ a)increases b)decreases
&Jfemain same d)becomes zero
O 7@9) Principal quantum number ‘n’ defines the position of electronin ............
. a)Shell b)Subshell
i ¢)nucleus _dyoutermost orbit
\jﬁfNormal Zeeman effect is observed when atom is placed in ............ field
7/ _a)Weak magnetic b)strong magnetic

c)weak electric d)strong electric
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Instruction:

1. Each question carries 2 marks.

2. Only one option can be considered by evaluator.

3. Iftwo options have ticked then the question will be considered as not attempted.

Q.) Select correct alternative.
1) Newton's first law of motion is known as law of -=-=-----

L a) Momentum _b) Inertia
L c) Energy d) Force
2) The energy possessed by the body by virtue of its motion is-------
- ~a) Kinetic energy b) Potential energy
Lad ¢) Mechanical energy d) Total energy
3) A valid solution of differential equation of S H.M. is =-=------
" a) X = a’ sin (ot + a) ~b) x=asin (ot + a)
¢)x*=asin (ot + 0) d) x*=a’sin (ot +a)
4) For streamline flow the equation of continuity is ............
O K a)ajvy = axvz b) ai®vi = ax*va
¢) a1vi® = apva? ) ar’vi® = a’vy?
5) Ultrasonic waves are ............ waves
oX _a) Light b) sound
c) electromagnetic d) matter
6) In Huygen’s eyepiece lenses are ............
N6 a) Plano Concave b) Convex
- ¢) Plano convex d) Concave

7) In case of compound pendulum , the centre of suspension and the centre of suspension of compound

lys:du!um ...........
’1/ a) cannot be interchanged /{} are interchangeable
c) are at two different points  d) are same points in few cases
8) The angle of contact between glass and mercury is...............

O _/Efa right angle b) acute angle
¢) an obtuse angle d) always zero
At what temperature do he Celsius and the Fahrenheit scales coincides?
a) 30° b) -30e
0% c) 40¢ _dy-40e
l/lt;)') Which of the following is the expression for the efficiency of Carnot engine?
g ) (Qi-Q2)/Q b)( P1+P2)/P
c)(T+T2)/T) d)( P1-P2)/P;
11) In Fresnel type of diffraction ------------- at finite distance from obstacle
7/\ a) both the source and screen b) only source
o

/e')'on]y screen d)none of these




\y/)ﬁe unit of figure of merit is =-------=-

| 2/ a)mm/pA /b‘fcm/uA

¢) HA/mm d) pA/cm
- 13) CMRR stands for -=------eee-
o 7\ a) Common Mode Rejection Ratio b) Common Mode Referential Ratio

ommon Mode Reference Ratio  d) Commercial Mode Rejection Ratio
14) Reverberation of sound is mainly due to ............
0 K a)reflection b)diffraction
c)polarization d)refraction
\/15) If ‘b’ is breadth and ‘d’ is the depth of bar, then its geometrical moment of inertia is given by

............

1/ '/a) b3d? b) B24d?

123 12
o)=L d) =2
12 12
16) Characteristic X-rays depend on ............
” )( a)target material b) wavelength
= c) frequency /d) energy of cathode rays
| Ve 17) A thin coin of radius 6 cm is rolling over a plane horizontal surface. Obtain its critical velocity.
O _—4)52.58cm/s b)72.58¢cm/s
€)62.58cm/s d)82.58cm/s
Torsional oscillations of wire are due to its.......
! fD a) modulus of rigidity b)Young’s modulus
i ulk modulus of elasticity d)high density
19) For Rankin’s method amount of gas required is............
a) very large b)large
_cJvery small d)huge

cal points for an optical system then............
a)X 1 X=fif2 /1{))(1 1Xo=f1 /2
c) XiX2=f /f2 d) X1 X=fif2

| \_ﬁ‘ll) If the total force acting on a particle or system is zero. then ---- of the particle or system of particles
1s conserved.

q//é(wy Newton’s formula, if X and Xz are resp. the object and image distances from the respective

a) linear momentum b) angular momentum
c) energy ~djforce
22) The maimum horizontal distance covered by a projectile is called the -------- of the projectile
U'/Q _-aydisplacement b)range
c) flight d)trajectory
23) Rigid body consist of --=------- degrees of freedom
| a)3 b) 1
: o X c)6 g
| A rigid body in motion can be completely specified if its and are given
7/ /af)fosition, orientation b)position , velocity
¢) position ., centre of mass d) orientation , centre of mass

ﬂ The principle of work is expressed by the equation -------------

L




—

N e

a) Y Fi.éri= 0 /b‘f F®.8r,=0

c) Y Fi.dv=0 d) Fi.éri=0
./ 26) A constraint is =---------- on the freedom of motion of a system of particles
a) restriction b)condition
_~¢) information d) none of these
7) Hamilton’s principle is =-==s=semem-e- principle
O a) differential b) integral
_eyan algebraic d) summation
The shortest distance between two points in a plane is along a ---------- passing through the two
points
/V a) curve b) normal to plane
¢) straight line d) circle
29) --mmmmeeeee of a particle is same in the fixed and the rotating system
.~ a) velocity b) linear acceleration
oy ¢) angular acceleration momentum
30) The frequency of antisymmetric mode is ---------- frequency of symmetric mode.
O K a) higher than b)lower than
¢) lowest than d)zero

\/BJf)The trajectory of a particle entering an electric field in a direction perpendicular to P iy

K% a) straight line parallel to E b) parabola
_eyhyperbola d)circle
\/32*) If @ is scalar potential function then following equation represent Laplace’s equation
a)V2@ = 0 b) V@ = p/eo
(V Vp=0 d) Vo = plen
y athematical formulation of empirical laws in electricity and magnetism are known as ---
a) Lagrangian’s equations ) Maxwell’s equations
| % c¢) Lorent’sz equations d) Newton’s equations
34)The equation of continuity is in accordance with the law of conservation of -----=-----
energy b) momentum
i /c?charge d)angular momentum
35) Electric dipole moment per unit volume of polarized medium is called ---------
&, a) Displacement vector D ~b) Polarization vector P
_~€) Magnetization M d) Electric intensity vector E
\}')’According to Ampere’s circuital law the line integral of magnetic induction B around closed path
1s equal to  ------------ the total current I enclosed by the closed path.
,V a) twice b) po times
_eY po/2 times d) po/4 times
37 The electromagnetic energy crossing unit area in unit time is called ---------
_ a) Poynting vector _Ajpolarization vector
% c)energy density d) current density
\Melectromagneﬁc fields ==-=-=---
a) total energy is conserved _btotal momentum is conserved
f)/ c)both a and b d) neither a nor b
39) Fhe trajectory of charged particle in a constant ,uniform magnetic field is --------
a) straight line Vlr)’ parabola

(g




¢)hyperbola d)circle
The trajectory of charged particle in crossed. uniform and constant electric and magnetic field is --

e

_a) Cycloid b) parabola
¢) hyperbola d) circle
\/4l_) X-rays are the ............ waves
/ a)electromagnetic __b)longitudinal
¢)mechanical d)elastic
) Characteristic X-rays depend on ............
1 a) target material b) wavelength
€J frequency d) energy of cathode rays
43) The energy released per fission of uranium is about ............
a)100 MeV b)200 MeV
¢)400 MeV A 150MeV
............ is the source of stellar energy
/Z/ a)Nuclear fusion b)Nuclear fission
chain reaction d)heavy water
O 7445) The Carbon-Nitrogen cycle contribution about ............ percentage to the total solar energy
a)s )25 c) 10 d) 20
_436)In MICIOPIOHE osavanicas converts into electrical energy
)sound b)light
c¢)laser energy d) magnetic field
7@) The ‘S’ energy levels are always ............
O a)double __bfriple
c)single d)multiple
y 48) Doublet separation ............ with increase of atomic number
: : _Adjincreases b)decreases
¢)remain same d)becomes zero
\Mprincipal quantum number ‘n’ defines the position of electronin ............
a1 _ayShell b)Subshell
c)nucleus d)outermost orbit
Mormal Zeeman effect is observed when atom is placed in ............ field
»2/ /ajWeak magnetic b)strong magnetic

, c)weak electric d)strong electric
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Instruction:
1. Each question carries 2 marks.
2. Only one option can be considered by evaluator.
3. Iftwo options have ticked then the question will be considered as not attempted.

Q.) Select correct alternative.
1) Newton's first law of motion is known as law of ======---
7\ i@y Momentum b) Inertia

U

c) Energy d) Force
2) The energy possessed by the body by virtue of its motion is-------
i ¢ 2y Kinetic energy b) Potential energy
a— c¢) Mechanical energy d) Total energy
3) A valid solution of differential equation of S.H.M. is --=-ene--
a) x = a’ sin (ot + ) brx=asin (ot + a)
0 ‘/; c)x*=asin (ot +a) d) x? = a’sin (ot + a)
4) For streamline flow the equation of continuity is ............
: a)ajvy = ava b) ar’y) = a’va
0 . Oravi? = ava? d) ai’v® = ar’vo?
5) Ultrasonic waves are ............ waves
_ a) Light Uk Sound
- ¢) electromagnetic d) matter
6) In Huygen’s eyepiece lenses are ............
" a) Plano Concave b) Convex
” /...1-" 3 ey Plano convex d) Concave
7) In case of compound pendulum , the centre of suspension and the centre of suspension of compound
pendulum...........
L~ a)cannot be interchanged T are interchangeable
£l c) are at two different points  d) are same points in few cases
8) The angle of contact between glass and mercury is...............
a) aright angle b) acute angle
a_— \ &y an obtuse angle d) always zero
9) At what temperature do he Celsius and the Fahrenheit scales coincides?
L—  a)30e b) -30°
Q. c) 40° AT =400
10) Which of the following is the expression for the efficiency of Carnot engine?
Ly (Qi-Q2)/Q: b)( P1+P2)/P,
)T +T2)/T) d)( P1-P2)/P
Q" 11) In Fresnel type of diffraction -----------=- at finite distance from obstacle
_ayboth the source and screen b) only source
- ¢)only screen d)none of these

(L__',./"" =




12) The unit of figure of merit is ----------
_a)mm/pA b)cm/pA
7 Loyrd/mm d) pd/cm
13) CMRR stands for --------------
Common Mode Rejection Ratio b) Common Mode Referential Ratio
A L~ ¢) Common Mode Reference Ratio d) Commercial Mode Rejection Ratio
"7 14) Reverberation of sound is mainly due to ............
_ajreflection b)diffraction
g ~ c¢)polarization d)refraction
15) If ‘b’ is breadth and ‘d’ is the depth of bar, then its geometrical moment of inertia is given by

............

b3 3 2
O 7& a) 1‘2t Md

12

o) b2d® d) b2d?
12 12
16) Characteristic X-rays depend on ............
; --,Vaﬁtﬁget material b) wavelength
O/ - ¢)frequency d) energy of cathode rays
17) A thin coin of radius 6 cm is rolling over a plane horizontal surface. Obtain its critical velocity.
P a)52.58cm/s b)72.58cm/s
= €)62.58cm/s L&187.58cm/s
Vv 18) Torsional oscillations of wire are due to its.......
0 f\ a) modulus of rigidity \/b%ung’s modulus
¢) bulk modulus of elasticity d)high density
19) For Rankin’s method amount of gas required is............
. a) very large b)large
O 7Q oyvery small d)huge
20)By Newton’s formula, if X; and X» are resp. the object and image distances from the respective
focal points for an optical system then............
a)X1X=fif2 b) X, 2X=f1 /f2
U 7L c) XiXo=fi /f2 VM{;(?:ﬂ f>
21) If the total force acting on a particle or system is zero, then ---- of the particle or system of particles
is conserved.
/-(;a/)’lﬁear momentum b) angular momentum
V- c) energy d)force
22) The maimum horizontal distance covered by a projectile is called the -------- of the projectile
© a) displacement b)range
7‘; c) flight .,d‘}(ajictory
23) Rigid body consist of ---------- degrees of freedom
a)3 b) 1
O TL o6 d)9
24) A rigid body in motion can be completely specified if its and are given
a) position, orientation \,bj/msilion , velocity
«\"¢) position , centre of mass d) orientation , centre of mass

25) The principle of work is expressed by the equation -------------




) Vaﬁ’f Fi.ér = b) Y Fi®.8r, =0

c) Y Fidv= 0 d) Fi.ori=0
26) A constraint is ----------- on the freedom of motion of a system of particles
_ayfestriction b)condition
~¢) information d) none of these
27) Hamilton’s principle is -------------- principle
et ifferential b) integral
.\~ ¢)an algebraic d) summation
L7 28) The shortest distance between two points in a plane is along a ---------- passing through the two
points
_a)curve b) normal to plane
" _eySiraight line d) circle
129) ——mmmmmeeen of a particle is same in the fixed and the rotating system
elocity b) linear acceleration
) angular acceleration Ldrfnomentum
30) The frequency of antisymmetric mode is ==----=--- frequency of symmetric mode.
a) higher than L,b')‘[o/:ver than
3 o “¢) lowest than d)zero
31)The trajectory of a particle entering an electric field in a direction perpendicular to - - ——
\}}'ﬁaight line parallel to E b) parabola
) 7[-— ¢)hyperbola d)circle
32) If @ is scalar potential function then following equation represent Laplace’s equation
- V%0 =0 b) V2@ = pleg
x> c)Vo=0 d) V@ = pleg
- 33) Mathematical formulation of empirical laws in electricity and magnetism are known as ---
a) Lagrangian’s equations [/bﬁf?raxwe]l’s equations
D = ¢) Lorent’sz equations d) Newton’s equations
34)The equation of continuity is in accordance with the law of conservation of -----------
~_a)energy b) momentum
el c) charge pdjﬁg‘ular momentum
L 35) Electric dipole moment per unit volume of polarized medium is called ---------
_— a) Displacement vector D by Polarization vector P
o8 ¢) Magnetization M d) Electric intensity vector E
1~ 36) According to Ampere’s circuital law the line integral of magnetic induction B around closed path
isequal to  --------en- the total current I enclosed by the closed path.
_ a) twice b) po times
. ; L&) /2 times . ' . ‘ d) pov4 times
37) The electromagnetic energy crossing unit area in unit time is called ---------
_a) Poynting vector b)polarization vector
\?\— ~ ¢)energy density L dycarrent density
38) In electromagnetic fields ----------
7& a) total energy is conserved b)total momentum is conserved
O A cytoth a and b d) neither a nor b

39) The trajectory of charged particle in a constant ,uniform magnetic fi field is --------
)L a) straight line \/b’_)/p‘arabola

O

|




c)hyperbola d)circle

40) The trajectory of charged particle in crossed, uniform and constant electric and magnetic field is --

" a) Cycloid by parabola
1 - c)hyperbola d) circle
41) X-rays are the ....covi0ne. waves
-';a)ﬂ?:ctromagnetic b)longitudinal
- ¢)mechanical d)elastic
42) Characteristic X-rays depend on ............
- arget material b) wavelength
R ¢) frequency d) energy of cathode rays
43) The energy released per fission of uranium is about ............
__— a)l00MeV b)200 MeV
H>< Veﬂﬁr/lev d) 150MeV
44) oo, is the source of stellar energy
a)Nuclear fusion Vb’fguc]ear fission
© + ¢) chain reaction d)heavy water
45) The Carbon-Nitrogen cycle contribution about ............ percentage to the total solar energy
S 7[\46) In m?c)rso hone cgg\?esrts into vf:lectric:ﬁc;:arrrj .
............ 2y
— k_,a)s&ld b)light
o P c¢)laser energy d) magnetic field
47) The ‘S’ energy levels are always ............
a)double b)triple
0O f\‘ c¢)single wymultiple
48) Doublet separation ............ with increase of atomic number
increases b)decreases
O ¢)remain same d)becomes zero
~ * 49) Principal quantum number ‘n’ defines the position of electron in ............
LaShell b)Subshell
- Rt ¢)nucleus d)outermost orbit
50) Normal Zeeman effect is observed when atom is placed in ............ field
LayWeak magnetic b)strong magnetic
0O 7[\ c)weak electric d)strong electric
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